MAURER MODULAR BRIDGING SYSTEMS - MMBS DETAIL A’ DETAIL *B’

. . . . Scale 1:3 Scale 1:5
Max crossing speed is 80 km/h. The client must determine
.o centrally positioned hinge connection centrally positioned hinge connection
and enforce the actual speed |limit based on the max MMBS with mechanic stop 50 with mechanic stop 77
crossing speed and the conditions at the construction site. for limitation of movement at one side REEET A for limitation of movement at two sides 73

< 80km/h (49 mph) = i

| N (D) | lt |
1 V@V, =¢ 8 Q0 =
double hinge for an improved double hinge for an improved — — k — | |
adaptation to the concrete surface adaptation to the concrete surface = =
5595
31
1719 2090 87 1668 S I I i ! 1] ' R 1l
: I _ : - RN R
drive on ramp centre plate drive off ramp L }“\ | 2% |L I
1625 1625 | STt T IR | R Y= VR
|- — — = = = |£ | \\> . . ) | | \_ _ \
650 700 1045 t C— 0 | | v 5 | I T o
— - — = concrete ' Ll Ll | - Ll Ll
concrete 4.0 % direction of traffic . |_('E?35Jl1bf —— | | L _dﬂﬂ_“—t‘ﬂjﬂ_
— — 167
/ 180 73
\°f ANANANANRAHNNRNNANNY 230 2N 77
) - —
o o
N {é m ~ high—tension fitted bolt connection high—tension fitted bolt connection /
< 2R\ < high—tension fitting bolt M24x115 10.9 high—tension fitting bolt M24x115 10.9
= JkS = acc. to DIN EN 14399-8, hot—dip galvanised acc. to DIN EN 14399-8, hot—dip galvanised
high—tension hex. nut M24, strength class 10 high—tension hex. nut M24, strength class 10
|” acc. to DIN EN 14399-4, hot-dip galvanised acc. to DIN EN 14399-4, hot-dip galvanised
high—tension washers 25 acc. to DIN EN 14399-6 high—tension washers 25 acc. to DIN EN 14399-6
AN
AN ¢ ’
Anchorage system (MAURER recommends): DETAIL °‘GROOVE
concrete anchor bolt HILTI — 6x AN Scale 1:1
HDA-T M16x190/40 (or equivalent) AN AN AN AN \\ N N N 10
inserted with composite mortar \ N N N N N N\ N N o : : ,
HIT HY 200-A (HILTI) (or equivalent) o Det(] | I bO I ted ConneCt 10N superstructure side
Drill hole diameter=30mm - 7 schematic view
Tightening torque =120Nm Scale 1:5
P R4
// // // // / 870 Hexagon nut
Schematic illustration of the superstructure / // // / // Lock nut
// / / // 7/ / 04
— d Z - // . washer
| -
| <
' & r
. \ | | )
[c@)
’ P I AN VIEW screwed connection abutment N |
, #65 0
P I an viecw MMBS plate Scale 1:2 — | HERE > N concrete screw anchor HILTI
e | NN HDA-T M16x190/40
5595 = a | @37 — N
B B c < - N\
1718 2201 1676 s 3 I Special part [/nsert]
- Scale 1:2
1619 2100 1623 = = o
— -— — - — -— = ~
(e R /o]
o o
B 650 | 700 . 269 155 width of the contact surface width of the contact surface 150 B 357 | 440 | 826 B A : g |
Width dimension for all ‘ ‘ ‘ ‘ S o B
. . “— !
Modular Bridging System $355J2+N $355J2+N $355J2+N _ - |
o=
N . . . . . . . R et o | T - - \ I | e e . - 2\ bl : ! ‘ 100 ‘
i Ok 1 / i N i - | i——| \ l__i: ocH =i i i N\ N \ i ' v | ! L ' . .
| o o0 1 | [T y;g) N T e €§3J| W (P I | . | | Detail bolted connection  obutment side
= _~/ A% r & - N © I I
. - @ Q"J | =S T - © el | © II=E8 S schematic view
| Q P o | | | | | Scale 1:5
| B | I | TP N 0 N | 4 | oloe
— — ©|o o —}
j | ¥ \ A Ol | S | S28 REQUIREMENTS FOR THE INSTALLATION Hexagon nut
_ . , , :
I | | | J J | | | I applies equally to both the drive—on and drive—off side Lock nut
~ . | V | I I I I | | ~—~  Scale 15 Tightening torque of the metric bolt on the hold-down clamp: 5.5 Nm
S22 sles 3/gg | I ol i I I | -l RER Tightening torque of the HDA-T bolt: 120 Nn washer
T DA | 4 | I I I I | | DA Height offset at installation
| | | | N 0 | | | | is limited to maximum 5 mm!
r I // L\ I | | | | I I w|S o
| L= @) hl | l | . | | Slaxs T . —
e Y el kL Tl LS | . Y OK
= (@) @)/ N sy | f & 2L " ==
o 2 Ry ] // /] ﬁﬁ' r 1 |&"ﬁ \ | ' M= N ST % / concrete screw anchor HILTI
= N T I . T AN S = == s N oSS HDA-T W16x190/40
| | | \ | —— 5 | / \\|——'| . 1 I/ | / | ' // // //
a ; a N a ; ; : - a \| =/ N N N N N N N N N N N = i a ; a N ; N a ; ol T + / i ]
/ Detail ’A’ / > =
B 500 || 200 200 200 E’FSO:// Detail :B»\\\-:TSO; B 410 B B 600 - - >
full contact full contact full contact full contact full contact full contact full contoct il eontoct § 2
O |
N Q -+
» NOTES:
IS .
S = Please note Installation Manual and Maintentance Manual
w 0
—_=
o=
MMBS plate . . . .
The MMBS System shall be used according to installation and maintenance GENERAL TOLERANCES

manual (doc PA 1.500 and AA 1.557). Welds: 1S0 5817 B (please note work instruction AA 1.510)
Weld construction: DIN EN IS0 13920 CC

Other: DIN IS0 2768 m (please note work instruction AA 1.512)

Crossing area with additional grip coating (steel mill slag, particle size range 1.5 to 3 mm)

The MMBS system shall be used for up to six months
DETAIL - PULL POINTS DETAIL - SOCKET ‘TURNBUCKLE® STAY DETAIL - LIFTING SPOTS y p b oo e LI Tio
(= 6x4 weeks installation and maintenance interval) at a time at Révision Description Date Name
Scale 1:5 Scale 1:5 exemplary illustration for the bridging element Scale 1:5 . . . . MAURER SE epor tneni|2021 | Date Name
one location. The intervals are prescribed and must be observed according m TBF Proc. | 01/20 | Trapp
Id level S355J24N Munich
x?th tﬁgesurfoce 925 to the installation and maintenance instructions (doc. PA 1.500 and doc. AA 1.557). — Chesked] 01/20 | Eber
S355J2+N v =8 ¢ a=8 Client: Order number
= _ a= V 303 873
= / R10 =8 / Structure: . Scale:  |Project number
B B — '[ % ' / > @ | If all maintenance intervals are respected, the system be able used MMBS for Moti BC 1:10 / 5P 104 676 001
—_— —_— {_ ] _} —_— —_— 8‘ // // C W2 y ‘ C TV I ! / Component: Article No. 1000089193 Sheet No.
I | i | g _I_ b = _I— / /J | / for another 6 months. MAURER MODULAR BRIDGING SYSTEM - concrete anchor tooooes i3/ ()02h
% \ I . . Z
ﬁ-_\ | R10 Section B-B " - ' _ 150 _ £ |Coating: DIN EN 150 12944-5: Sand blasting grade: SA 2"/2
925 60‘ 130 Section C-C Section DD The system meets the requirements of the Canadian Highway Bridge Design Code S| river toger:  hot galvonized thickness 80=100 yn gt .No _687.03
150 190 - with the surface (CHBDC) S6-14, 2014; Supplement to CHBDC S6-14, 2016 f’ nternediote coal: epoxid irom oxide thickness 190 un Wal.No _695.12, DB704

Finishing cost : PUR epoxid iron oxide 80 695.74, DB704

___________ thickness —_2Y _ um Mat.No




